B B/t )

ehith 12K E X B (

=

’.5"' F A

X1 A FEEER Rl I 11NN = s 0 Y RS

4 o <

FCoiEE, BLpEREOKRZEZST T, ARETOEFHIR25000ZH 8 L

3D TH%S.

IR S DB

iR

1K 5.0mBLE

FRKE 2.0mBLE 5.0mKiE
FRAKR 1.0mBLE 2.0m3KiE
KR 0.5mBLE 1.0mKiE
KR 0.5mKiH

=

RED L0t
. oDk
ShE TR
S

A

R

>

wp <o
TS

IR OhEE
Hc

=

1

il D

H
SES o+
Hﬂd ox
H

[od

>

S

AT
W cSwrRE

A

oA
Ao
=

#
Erst Ny

TROBKRKRHFCLY,
? i3

o

HEY AT
WAz

Df=HMLUSND S DDEFEE L TL

oL
>

EHOMEEROES APFEH E2(D)

12 5] 5.8 m

WA K 2 2,250 m

7 A B ORI 605>
SHTEEER




